St. Mary’s School, Dwarka
Winter Holiday Homework-2025
Class VIII
Subject: English

General Instructions:

1) The work should be done neatly and in a systematic way.

2) The given questions are to be done in your respective subject notebook.
3) Write questions along with the answers.

GRAMMAR & WRITING (12 marks)
Q1. Do as directed.
I. Complete the sentence with reference to the underlined sentence. (Y2x4=2)
1. The committee is discussing the new policy.
Ans. The new policy
2. Scientists will soon discover a cure for this disease.
Ans. A cure for this disease
3. Who wrote this fascinating novel?
Ans. By whom :
4. The authorities had already issued several warnings before the storm hit.
Ans. Several warnings

ii. Fill in the blanks with the appropriate word. (Y2x4=2)
Lily was excited about the upcoming camping trip, but she knew she (a)
(must / might) pack everything carefully. Her parents told her that she (b)
(should / could) bring extra blankets in case it got cold. They also reminded her that she
(©) (may / must) not leave the campsite without informing an adult.
Lily thought she (d) (can / might) enjoy the trip more if she planned some fun
activities in advance.

Q2. You are Priya/Vikram. You received a call from your cousin, Rina, informing you that the
time for their family dinner has been postponed. They will now meet at 7 p.m. instead of 6 p.m.
Write a message in 50 words to inform your mother, as you need to leave for tuition (3)

Q3. You are Lakshita/Lakshit, a resident of 213, Janakpuri, New Delhi. Write a letter to the Editor of
a leading newspaper in about 120-150 words to raise awareness about the growing issue of
cyberbullying among teenagers. Highlight the emotional and psychological effects it has on
students. Suggest preventive measures, and urge parents, schools, and authorities to take collective
action. 5)
LITERATURE (8 Marks)

Q4. Answer the following questions in 20-40 words. (2x2=4)
i. What did the narrator see through the gap in the story, That Little Square Box?
ii. How did the journey of the anarchist come to an end?

Q5. Answer the following question in about 80-100 words. (4x1=4)
How would you describe the bacteriologist and his approach to his work in the story,
The Stolen Bacillus?
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Subject: Hindi

oo foader—
o fQu s Wil uesll & Icax f&dt ot saax yfeasT & fAfkwe |
¢ DR T TGy ©d T o A FifEe |
® ICIHIA UI® UZel B et porer Al |

geet 1 fAefaffa ueeil & RAdengar 3w dfbes - (1x5=5)
(@) ‘o elis-a1 wust @ifée | 'sw@ arae @ eig-w1 e fagiver o old-w sia &7
(Ra) @ & @l € 5w a9 el e & 7
(a1) fRvafcifea et & gegaa su=et 3w o1 @i sicTeT WrD faifwe-
(i) ufRare (ii) stefare
(ar) FReaifcifa et dt ~ifer aen wfifdcde Fifse @
: (i) a/e1 + »RfE (i) afeca
(5) fRefafea amei # 3fa e -fea e Afee-

(i) a8 &% o1 <&l &
(i) a21 ® di% ae1 91eT &l & a2 i el ® fole WRIceled T&d ¢ |

uee 2 fieifoifda ey w6l w smenfea weelt @ Jor 25 & 30 wd & dffw-  (2x2=1)
(@) oz it 3o A @ 9 aEn @ Ao gfaen o ol &7

(za) 31dis1 & @ fdetared! sft A sMEcllcl B UeTel ab A avil Soler x fGar en’
ueel 3 fAsafofRia yaa wet @ smnfRa vesdt & 3o 25 A 30 e & difstes- (2x2=1)
() wdizar sft ‘ora st gos awg @ oft saon dEcca @il 2d &7 3D iR

G Sftaet 31 fael cliell @1 3iftie Hecca slar & ¢
(Ra) aret sfigwr fBw clisl & wror gu d @ e dax ge?

ued 4 fAsafafea wo gwae © w6l uww srafia gesil & 3w 25 & 30 @l &
difstes- (2x2=1)
() s1eTcan gex @ o1 9 WA B Icufed D oo BRYT &7
(R4) ®ele auwen 9 oret fRwret 3 siisiol wat @1 fAvier a=it foen 7
B L. )

(@) ‘eficramr er @t gfcgal 3 sl 3q Sugad e fava oz Q) @t & d &
gl @) 100 2t @ wae @ wu @ fofee | (ax1=2)

(za) fasmpen ufdRiifEter & werer 3met ux 3met B o @t @S un foife | (ax1=3)
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Subject: Mathematics

Q1. Find the volume of the cuboid whose length, breadth and height is 3xy, 11x%y and 12 xy* z
respectively. Also find the volume of the same cuboid if x =1cm,y=2cmandz=3cm.
Q2. Using identities show that : (4xy + 3y)? - (4xy — 3y)? = 48 xy?

Q3. Factorise the following algebraic expressions: (mention the identity used)

a) 49 p>— 121¢? b) a? — 2ab + b?— c? c) 25m?+30m+9
Q4. a) Subtract :4a-6ab +4b + 12 from 7b — 8a + 4ab — 8
b) Multiply : 2,4y ,6y%,8y®
¢) Add :10 (6y +21)and 5 (2y +7)
Q5. a) Factorise the following using middle term splitting method :
) y? -7y +12
i) 3z2- 4z- 15

b) Divide :3pq (64 p>—8192) by (8p—9q)
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Subject: Science

General Instructions:

(1) The work should be done neatly in the Physics, Chemistry and Biology notebooks respectively.
(2) Write questions along with the answers.
(3) Answer the 02 marks questions in 30 to 50 words.

(4) Answer the 03 marks questions in 50 to 80 words.

PHYSICS

Q1 and Q2 are Assertion - Reasoning based question. This consist of two statements Assertion (A)
and Reason (R). Answer the question by selecting the appropriate option given below:
A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A
C. Aiistrue but R is false
D. Ais false, but R is true

Q1. Assertion(A): Vibrations are sent from the middle ear to the eardrum. 1)
Reason (R): The eardrum is like a stretched rubber sheet.

Q2. Assertion (A): Light travels in a straight line. 1)
Reason (R): Shadows are formed when an object blocks the path of light

Q3. (@) We have learnt that vibration is necessary for producing sound. Explain why the sound (1+1=2)
produced by every vibrating body cannot be heard by us.

(b) Imagine you are an astronaut floating in space, and you try to shout to your fellow astronaut.
Why can't they hear you?

Q4. (a) Pendulum A makes 150 oscillations in 50 seconds and pendulum B makes 12 oscillations in
0.3 seconds. Which one has a higher frequency?
(b) Suggest two measures to limit the noise pollution in your locality. (2+1=3)

Q5. (a) If a light ray strikes a plane mirror at an angle of 40° to the normal, what will be the angle
of reflection?

(b) Draw a neat and labelled diagram to show the incident ray, the normal, and the reflected ray.
(1+2=3)
CHEMISTRY

Q1 and Q2 are Assertion - Reasoning based question. This consist of two statements Assertion (A)
and Reason (R). Answer the question by selecting the appropriate option given below:

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. Aistrue but R is false

D. A is false, but R is true
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Q1. Assertion (A): Electrical charge can be transferred from a charged object to another through a
metal conductor. 1)
Reason (R): A device used to test whether an object is carrying heat or not is called an
Electroscope.

Q2. Assertion (A): Carrying an umbrella is not a good idea during a thunderstorm.

Reason (R): Open fields, tall trees, shelters in park, elevated places does not protect us from
lightning strokes. (1)

Q3. (a) If an object is touched with metal top of an electroscope its aluminium strips diverse. What
conclusion do you get from the above observation?

(b) Can an electroscope be used to determine the type of charge? Explain your answer. (1+1=2)
Q4. (a) Define the following terms: (i) Focus (ii) Epicentre (1X3=3)
(b) Write any two safety measures that must be taken at the time of earthquake.
Q5. (a) Draw a labelled diagram of a device used to detect the presence of static charge.

(b) Write two precautions to be taken during a lightning or thunderstorm. (1+2=3)

BIOLOGY
Q1 and Q2 are Assertion - Reasoning based question. This consist of two statements Assertion (A)
and Reason (R). Answer the question by selecting the appropriate option given below:
A. Both A and R are true and R is the correct explanation of A
B. Both A and R are true and R is not the correct explanation of A
C. Ais true but R is false
D. A is false, but R is true

Q1. Assertion(A): Reproduction is essential for the continuation of species. (1)
Reason (R): Organisms reproduce only through sexual mode of reproduction.
Q2. Assertion (A): Internal fertilization takes place in hens. 1)
Reason (R): Hen is an oviparous animal.
Q3. Write the difference between- (2)
Parameters zygote foetus
Formation
Location

Q4 Mention two differences between male and female gamete in humans based on their size and
structure. (2)

Q5. In a science class, students are learning about reproduction in animals. The teacher explains the
reproductive processes of two very different organisms. Frogs undergo sexual reproduction with
external fertilization whereas amoeba reproduces asexually by binary fission. The teacher asks the
students to compare the reproductive processes of these two species and how their modes of
reproduction help them survive in different environments.

(a) How does aquatic habitat help frogs with external fertilization? (1)
(b) Why does internal fertilization provide more protection to a developing embryo as compared
to external fertilization? (1)

(c) List any two differences between sexual reproduction in frogs and asexual reproduction in amoeba. (2)
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QL.
Q2.
Q3.
Q4.
Q5.

QL.
Q2.
Q3.
Q4.
Q5.

QL.
Q2.
Q3.
Q4.

Q5.

Subject: Social Science
HISTORY

Define history as a science.
How was the Battle of Plassey a turning point in Indian history?
On the political map of India locate and label two trading centres of the English, French.
Make a G.O. of the sources of information of the modern period. Explain any two in detail.
What do you understand by the system of ‘Subsidiary Alliance’?

CIVICS

Mention any two provisions of the government of India to save its citizens from exploitation.

Define the term ‘Federalism’.

Explain any two powers of the Parliament.

Mention any three points of difference between Lok Sabha and Rajya Sabha.
Mention the conditions under which the President can impose an emergency.

GEOGRAPHY

How is alluvial soil classified?

State any four industrial regions of India.

Distinguish between the agricultural practices in the developing countries and the developed
country.

Explain how the farmers benefit from establishing factories generally located near the major
towns.

Human resources are the most valuable resource in the contemporary world. Elaborate.
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Subject: Sanskrit

ey fAder -

1 HAYIGY, YT, Jcaal, TRl BeldrR! Yfeasrme forad |
2 AW, TLIIoIE, S, SAlTHRH, folwad |

3 oRid Tawed, Zaue, T, o o forad |

ueel 1 Yaad folSl qical dAoNRI Yacd 2Iield, SeRIa dcdlfe arqenfa edga

forma — (1xa=1)
oI - Qe ,IE, , ol gt , ad) , qeRel ,Ien, sfd , Uasfd , &¥ifden
vee 2 srifafRd war roprR sflaraf e Reavenenfa qreas (1xa=1)

oMl - Wit , YN, Pal, IFEEEA
airar - [1].........! c@d foa s 7

U - A, 316 DRI [4]............ 31a2eId, eI |
AT - 2NaTeTa |
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ued 3 fAde uzeend Jcaafl 3fka fdseud fiaar fAxaa |
(@) urg wufor foraa —
() oy enq- clceTdIes, el Ywws, Udddel 3fdd wue fdey erafa?
(®) efoaafa (W) owfad (1) orafea
(i) ‘@ og- ¢le, cioRs, Jcadl yww, fgadel sfa wuel e safd?
() wdid (=) okt (a1) o
(iii) ‘S0 ®Iq- wile, cldles, HRIH Y&HNs, vbddel 3fdd wud foe sdfd’

(v) seoas () swom (a1) s
() o wuifor fomaa
(i) ‘fdat e [go] wedl favifaes, agawe sfia wuel foel safd 7
(@) = (Ra) wrowmer  (er) Durey
(i) ‘3o1e, e fgditen favifaes, wwace 3fa wuel fde safa 7
(®) ama (Ra) s (a1) @rot
(iii) ‘ot ol et favifaers, ewaael sfda wue fde safa 7
(®) @ (=) ey (a1) cafer
511 4
(@) srifeifcaey sfd s g, e Raea werenfs geera —
(i) o auf erafd  ............... eXlfden emafa |
() dar (Ra) aa (a1) @
(1) cereeereernnn. A fAS fdares 3medla |
(®) 3r (a) &z (1) 2w
(iii) QEETE oo, AT |
(®) 2t (=) eftae (a1) efterey

() smifefdy Reaeny sgfd gcre w@isa sfta yed Feda e Raa

(i) 613 ¢IdIa ............ (ﬁ%‘[ﬁ' aeal) Uedesdl 3191dcl |
(@) stcar (@) onfercar (a1) =mrema
(ii) AlEeTs YRADICTRIIA, JTADA, ............ (31'I+ art WE[) 319Teeid |

(1x3=3)

(1x3=3)

(1x3=3)

(1x3=3)




(®) e (@) smcr (31) ger
(iii)) BB ............ (B + ALY ) TeIHIHA ITeBfon |
(@) adiger (@) dafige  (o1) Bfdge
ued 5
(w) *wifda yea, snyca vesi Refleaey -
(i) areits fdcar fod wafa |
(ii) wrfasfiarg wHersrgeree! el |
(iii) FFoger: WYl arel aed |
() sreifAfde eec=it srefa fraa —
(i) ufediee (i) urSURgUSIfeR
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Subject: Computer Science

Answer the following questions: -

Q1. Find the output of the following program code.
a) f(%):
y=X**x
. y
print("testing...")
print("passing the value 4")
z=1(2)

b) power(X,n):
p—x**n
p
print(power(3,3))

Q2. Name the following SDG Goals.

a) 'I:; b)

Q3. Answer the following questions.

a) Explain in detail the different types of functions.

b) What is function in Python? Write the components of the function.

c) List any four advantages of functions.
d) Write any two features of Python.
e) What is the aim of the following SDG Goals? 1) SDG 4

Q4. Write the Python function programs for the following: -
1) to calculate the simple interest
i) to calculate the volume of cuboid
iii) to calculate the perimeter of the following: - a) Circle
iv) to calculate the area of triangle

V) to calculate the area of square

Note: - Paste the snip of the program code and the output window after each program.

Upload the pdf of the practical on Microsoft Teams.

Q5. Draw an infographic on the 17 SDG Goals.
Use new.express.adobe.com
Login using your official school account.
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b) Rectangle

(1x2=2)

(1x3=3)

(1x5=5)

(2x5=10)
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Subject: Elementary Mathematics

Q1) Write in vertical columns and add: (2)
a) 3.61 +2.021
b) 12.312+3.5+6.316
Q2) Find the radius, if the diameter is
()
a) 12 mm.
b) 8cm.
Q3) Find the diameter, if the radius is
©)
a) 8.7 cm.
b) 3.5cm
c) 4.2 cm.
Q4) With the help of a compass, construct circles of radius: (3)
a) 3 cm.
b) 5.7 cm.
c) 2.5 cm.

Q5) A fruit seller sells the following fruits in a week: (5)
Fruits Apple | Banana Guava | Orange

No. of Fruits 80 120 60 100

Answer the following questions:
a) Represent the above information pictorially when 1 A represents 20 fruits.

b) How many oranges were sold in a week?
c) If the cost of 1 apple is %6, what is the cost of 80 apples.
d) How many fruits were sold in all in a week?

e) What is the difference between the maximum and minimum number of fruits sold?
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